SCUPHERE 5 1 SR I B e S

X (2023) 47 &

SCUPHIA BRI T B ik 2023 A5 Jefell A 3598
PRPRPT B (553t my

X, HeER, BT EME A
ﬁ%(z%éﬁﬁﬁ%%? 2m&$$%ﬂ&éﬁ%ﬁﬁ
PRE (F_#) @) (0K (2023) 81 F) ER,
¥ 2023 F R &S RIFERP A M”%)TLﬁM(#
TR 1) o A B 5]<1100252— & bk A& 3 B W 5k = A 4 %
XABRN, T B2 R B 721301 R RAT”, BFRE
X AF LA EFI“51301 ETRABFE#ZHELE?, Hx
THERDLT:
—. BUTBE#REERLE



HRE(HT) BEFEPIAT(RLESHERF R E2EEN
) (MR (2023) 115 ) FXHAE, I E EHE#*E
MHAEPATHE B R 2 EE, HRT L2 La REH .

Z. IR E S

HAE(H) EXBRREREF, BEREETERF
THBEREE . ERRE . FRIPFNRERFERERT. &
MEEHRAEY, BEMER KB4, XXHE 04 R LR
BRFAATHARE, R LA H Y ERE LR P FE DN FE
B, BREZRET LR, FERESAT T EMTELR E L
e 56 RK JE, RL RS BB N SR E AR T R T S B M
R R AT By ¥ 3 B4R FT R ST, M Bk R AL SLAT
& M B 5 T

=, ITHRABVBS K ELEHERS

THAREEWN RS, EEEZMIHE NNAHE (XT
REIFHERAEAZREAFEAMBI RS TERNER) (M
R (2021)225) fedf MECTF 11 M7 (X T4 FM
FEAEERAGFEAMBIRE AL ITENAEL ) (= U KR(2021)
153 5 ) WA XHAE, ?EAELSRAMATENT S —FXH
“YIITR”, RLFEHFHRRELTHE L, WA TEARE
SEMAESRELBACFRAEERERN, FHEXZZT 2
ReEMMHEESTRFER, FEAERNAANLBITHZRE
P



fEfF: 12023 FH R RV ASKERP KL () 2
i &
22023 F IRV AASKERP RS (F_#H)K
B 4w B ARk

2023 4 5 F| 3058



Yix: MREENEG, ARTEFR. EEFH,

Sl M BB AN E

2023 £ 5 A 30 HE K

4



Bl -1

20234 el A

AGTIRIR DT85

i

B, F T
Fs B () hit HIRR SRR aliERERP
STl M A 246 207 39
1 kg 28 28
2 iz 110 99 11
3 BETE 108 108




%08 M HOEHG %eg < 71 FLE ¢
%08 € %08 % < IE A0E 6 %E8 9T LI b B t
%08 < %08 % < M ESHSG 0¢ th M3 I
w08 < %08 %t € s T M A0C[H6 Wm%m@ﬂ/\ﬂmmwm %E8 < 0 99 0 ¢ WM L
u.n.; bﬂ@ﬁ e Ma _.\m_ Ammlhmv
¢ e o W [a] Wz 2 X I =z ?
it wmwww wison | BHTE | oy | nmieny |euwonnuE | wpmn| sy | S0 | V)| ynes o
wmmmw xS | BEYE | Gz | Sxmied [¥B T whnvn | Raws | FULE | HEE vy =
o #%K_Wmﬁ«% .‘E.,M.m.ww it ﬂnﬁ‘hﬁ“\ﬂ.& %%Wﬂﬁww\ﬂ_w i : ERE wﬂﬂ_\.q.%..._..w 1%%
e
B B HOE W wMMﬁ BT ST B B B BT S
AERHE & HEER EET A HERG—
AR TN A Ao s SUNEEN R T TR
997 {3 ch e (L L)
97 PR WHT Y
=0l G N (o N e T

LOml L M T

ﬁ._ Wmt.mm%m ﬂ.w

sl 2 i

ol N TR

ZFNH%%

SRS YLK HY

SEXN LT

- H RGN X S S T A1 A ly€20T

= 30




